
Service 
Bulletin 

B0003003 
2000-12 

Models Effected:  All Husqvarna Small & Large Frame ZT Riders. 
 
 
Subject:  Baffle Kit. 
 
 
 
 
Service Information:  A “Baffle Kit” has been developed that will 
substantially  reduce front blow out being experienced in certain mowing 
conditions.  Each kit contains the necessary baffles, hardware, and illustrated 
instructions required for its installation.  No drilling or cutting is required.  
Baffles bolt into existing holes that are already provided in the deck for the 
optional mulch kit. 
 
Parts Information:  Baffle kit part numbers for small and large frame zero 
turn rider decks follow. 

P/N  - 42 inch Deck 
P/N  - 48 inch Deck 
P/N  - 52 inch Deck 
P/N  - 61 inch Deck 

 
Warranty Information:    

   

 

and therefore is not necessary in most cases.  Baffle kits are available at regular 
dealer cost.  If used for a warranty situation, dealers will be reimbursed for their 
cost plus 1/2 hour labor upon receipt of the warranty claim. 
 
 
 
 
 
 

 
 
 

B0003003  Page 1 of 3 

This kit is available to address special circumstances 

539105425
539105426
539105427
539105428

For Husqvarna Parts Call 606-678-9623 or 606-561-4983

www.mymowerparts.com



539105425      42 inch Decks 
539105426      48 inch Decks 
539105427      52 inch Decks 
539105428      61 inch Decks 

For Husqvarna Parts Call 606-678-9623 or 606-561-4983

www.mymowerparts.com



539105435  Center Baffle (42”) 
539105444  Center Baffle (48”) 
539105439  Main Baffle (42”) 
539105448  Main Baffle (48”) 
539990799  Carriage Bolt 5/16 
539990184  Nut 5/16 
539990692  Flat Washer 5/16 

539105453  Center Baffle (52”) 
539105461  Center Baffle (61”) 
539105457  Main Baffle (52”) 
539105465  Main Baffle (61”) 
539990799  Carriage Bolt 5/16 
539990184  Nut 5/16 
539990692  Flat Washer 5/16 
 
 
 
 
 
 
 
 
 
 

B0003003    Page 3 of 3 

For Husqvarna Parts Call 606-678-9623 or 606-561-4983

www.mymowerparts.com


